¢ 7 22 FRY (R )R

11/1-11/6 = p & i+ &
p g 11/1 | 1172 | 11/3 | 1174 | 11/5 | 11/6
5 3 (=) (=) (z) () (=) (P)
iR
740.10 | 670.68 | 726.06 | 700.30 | 737.89 | 765.17

(ovg/p)




¢ 7 22 FRY (R )R

11/7-11/13 = p # i+ &
Py 11/7 11/8 11/9 | 11710 | 11/11 | 11/12 | 11/13
5 Hp (=) (=) (=) (z) () (=) (p)
HL R
) 741.46 | 764.10 | 758.65 | 598.80 | 351.57 | 362.65 | 270. 62
(owg/p)

X11/10 B 45 fx 13




73 5L IR IT(AE )R

11/14-11/20 % p # i £
pHp 11/14 11/15 11/16 11/17 11/18 11/19 11/20
B (- | () (=) | (x) (@) ) ()
iR
_ 0. 00 0.00 0.00 0.00 0.00 0.00 0. 00
(2¥/p)

X11/14-11/20 & iz




¢ 7 22 FRY (R )R

11/21-11/27 = p A i+ &
Py 11/21 | 11/22 | 11/23 | 11/24 | 11/25 | 11/26 | 11/27
5 Hp (=) (=) (=) (z) () (=) (p)
B R
) 168.84 | 353.01 | 365.72 | 371.17 | 540.20 | 708.67 | 715.57
(owg/p)

X11/25 2 & #% i3




0 22 TR (i) R
11/28-11/30 = p 4 i+ &

Py 11/28 | 11/29 | 11/30
5 Hp (=) (=) (=)
HL R
) 716.76 | 741.61 | 750. 36
(owg/p)




